Relations connecting the scale transformation and Backlund transformation for the cylindrical Korteweg-de Vries equation

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
1982 J. Phys. A: Math. Gen. 15 L347
(http://iopscience.iop.org/0305-4470/15/7/004)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 129.252.86.83
The article was downloaded on 31/05/2010 at 06:15

Please note that terms and conditions apply.

## LETTER TO THE EDITOR

# Relations connecting the scale transformation and Bäcklund transformation for the cylindrical Korteweg-de Vries equation 

Huang Xun-Cheng<br>Shanghai Institute of Computing Technique, 30 Hu Nan Road, Shanghai, China

Received 12 March 1982


#### Abstract

Relations $B_{a}=S^{-1}(a) B S(a)$ and $B_{a}^{-1}=S(-1) B_{a} S(-1)$, connecting the scale transformation (ST) and the Bäcklund transformation (BT) for the cylindrical Korteweg-de Vries equation, $u_{t}+6 u u_{x}+u_{x x x}+u / 2 t=0$, are obtained. One analogous relation between the BT and translation in $x$ is also considered.


In the study of solitons in multi-dimensional systems, one of the simplest, and thus most important, models is provided by the cylindrical Korteweg-de Vries equation first studied by Maxon and Viecelli (1974). They considered the propagation of radially ingoing acoustic waves of a plasma with cylindrical geometry. Under the assumptions of isothermal and stationary electrons, cold ions and small amplitude of the initial perturbation, they derived the cylindrical Korteweg-de Vries equation for the dimensionless ion fluid velocity written as

$$
\begin{equation*}
u_{t}+6 u u_{x}+u_{x x x}+u / 2 t=0 . \tag{1}
\end{equation*}
$$

Here and in the following, a subscript represents partial differentiation. The analytical study of equation (1) has been carried out so far mainly via the inverse spectral transformation method by Calogero and Degasperis (1978). Very recently, a bt of equation (1) was obtained by Nimmo and Crighton (1981). In contrast to other known BT 's this BT is unusual in that the integration of the BT with zero as one solution does not generate a single-soliton. In this letter we set up three relations connecting this BT with the scale transformation and the operation of translation. It turns out that to derive the conservation laws, nonlinear superposition formulae and the soliton solutions from the BT must make use of the arbitrary parameter contained in the BT ; so it is helpful to set up such relations. The analogous relations for the sine-Gordon, Korteweg-de Vries and nonlinear Schrödinger equations have been obtained by Steudel (1975, 1980).

Let $u=w_{x}$. We rewrite equation (1) as

$$
\begin{equation*}
w_{z}+3\left(w_{x}\right)^{2}+w_{x x x}+w / 2 t=0 . \tag{2}
\end{equation*}
$$

A Bäcklund transformation for equation (2) is
$\boldsymbol{B}_{a}$ :

$$
\begin{equation*}
\left(w^{\prime}+w\right)_{x}=(x+a) / 6 t-\frac{1}{2}\left(w^{\prime}-w\right)^{2} \tag{3a}
\end{equation*}
$$

$$
\begin{equation*}
\left(w^{\prime}-w\right)_{t}=\left(w_{x x}^{\prime}-w_{x x}\right)\left(w^{\prime}-w\right)-2\left(w_{x}^{\prime}\right)^{2}-2 w_{x}^{\prime} w_{x}-2 w_{x}^{2}-\left(w^{\prime}-w\right) / 2 t, \tag{3b}
\end{equation*}
$$

where $w^{\prime}$ and $w$ are two solutions of equation (2) and $a$ is an arbitrary parameter.
The scale transformation $S(\lambda)$ is defined as
$S(\lambda): \quad x \rightarrow \tilde{x}=\lambda^{-1} x, \quad t \rightarrow \tilde{t}=\lambda^{-3} t, \quad w \rightarrow \tilde{w}=\lambda w$.
Obviously, equation (2) remains unchanged under the ST (4). Now we have:

## Theorem 1.

$$
\begin{equation*}
B_{a}=S^{-1}(\lambda) B_{a / \lambda} S(\lambda) \tag{5}
\end{equation*}
$$

and, in particular,

$$
\begin{equation*}
B_{a}=S^{-1}(a) B_{1} S(a) \tag{6}
\end{equation*}
$$

where $B_{a / \lambda}$ and $B_{1}$ are the BT (3) with the parameter taking the values $a / \lambda$ and 1 , respectively.

Proof. Let $w_{(i)}(i=0,1)$ be two solutions of equation (2) and $w_{(1)}$ the result of $w_{(0)}$ under the BT (3). We use the formal notation

$$
\left(\begin{array}{c}
x  \tag{7}\\
t \\
w_{(1)}
\end{array}\right)=B_{a}\left(\begin{array}{c}
x \\
t \\
w_{(0)}
\end{array}\right)
$$

Using st (4), we translate $w_{(i)}$ into $\tilde{w}_{(i)}(i=0,1)$, respectively, and write formally

$$
\left(\begin{array}{c}
\tilde{x}  \tag{8}\\
\tilde{t} \\
\tilde{w}_{(i)}
\end{array}\right)=S(\lambda)\left(\begin{array}{c}
x \\
t \\
w_{(i)}
\end{array}\right), \quad(i=0,1) .
$$

It can easily be verified that

$$
\begin{align*}
\left(\tilde{w}_{(1)}+\tilde{w}_{(0)}\right)_{\bar{x}}= & (\tilde{x}+a / \lambda) / 6 \tilde{t}-\frac{1}{2}\left(\tilde{w}_{(1)}-\tilde{w}_{(0)}\right)^{2},  \tag{9a}\\
\left(\tilde{w}_{(1)}-\tilde{w}_{(0)}\right)_{i}= & \left(\tilde{w}_{(1) \tilde{x} \tilde{x}}-\tilde{w}_{(0) \dot{x} \dot{x}}\right)\left(\tilde{w}_{(1)}-\tilde{w}_{(0)}\right)-2\left(\tilde{w}_{(1) \tilde{x}}\right)^{2}-2 \tilde{w}_{(1) \dot{x}} \tilde{w}_{(0) \dot{x}} \\
& -2\left(\tilde{w}_{(0) \tilde{x}}\right)^{2}-(2 \tilde{t})^{-1}\left(\tilde{w}_{(1)}-\tilde{w}_{(0)}\right), \tag{9b}
\end{align*}
$$

that is

$$
\left(\begin{array}{c}
\tilde{x}  \tag{10}\\
t \\
\tilde{w}_{(1)}
\end{array}\right)=B_{a / \lambda}\left(\begin{array}{c}
\tilde{x} \\
\tilde{t} \\
\tilde{w}_{(0)}
\end{array}\right) .
$$

From (8) and (7), we have

$$
S(\lambda) B_{a}\left(\begin{array}{c}
x  \tag{11}\\
t \\
w_{(0)}
\end{array}\right)=B_{a / \lambda} S(\lambda)\left(\begin{array}{c}
x \\
t \\
w_{(0)}
\end{array}\right)
$$

therefore,

$$
B_{a}=S^{-1}(\lambda) B_{a / \lambda} S(\lambda)
$$

which is the conclusion (5), and the proof of (6) is immediate by taking $\lambda=a$ in equation (5).

Theorem 2.

$$
\begin{equation*}
B_{a}^{-1}=S(-1) B_{a} S(-1) \tag{12}
\end{equation*}
$$

where $B_{a}^{-1}=\left(B_{a}\right)^{-1}$, the inverse transformation of the $\mathrm{BT}(3)$.
Proof. It is easy to see that $B_{a}^{-1}=B_{-a}$, hence formula (12) is true by equation (5).
Remark. The transformation $S(-1)$ is discrete. This transformation maps components of the connection $S^{+}(\lambda>0)$ of the group of st (4) on the component $S^{-}(\lambda<0)$ and conversely.

Once more we specialise the BT (3) to $a=0$, and it is easily seen that the relation

$$
\begin{equation*}
B_{a}=T^{-1}(a) B_{0} T(a) \tag{13}
\end{equation*}
$$

holds, where $T(a)$ is the translation defined by
$T(a): \quad x \rightarrow \tilde{x}=x+a, \quad t \rightarrow \tilde{t}=t, \quad w \rightarrow \tilde{w}=w$,
under which equation (2) is also invariant.

## References

Calogero F and Degasperis A 1978 Lett. Nuovo Cimento 23143
Maxon S and Viecelli J 1974 Phys. Fluids 171614
Nimmo J J C and Crighton D G 1981 Phys. Lett. 82A 211
Steudel H 1975 Ann. Phys. B32 205, 445

- 1980 Physica D 1D 420

